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QUESTION 1

You want to prepare your ONTAP cluster and your ESXI cluster to connect NFS datastores over a 10-GbE network
using Jumbo frames. In this scenario, which three configurations would accomplish this task? (Choose three.) 

A. Enable jumbo frames with an MTU of 9000 for your ESXi hosts. 

B. Enable jumbo frames with an MTU of 9216 for your switches. 

C. Enable Jumbo frames with an MTU of 1500 for your ESXI hosts. 

D. Enable Jumbo frames with an MTU of 1500 for your ONTAP cluster. 

E. Enable Jumbo frames with an MTU of 9000 for your ONTAP cluster. 

Correct Answer: ABE 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMLP2496234 (9) 

 

QUESTION 2

You want to configure Active Directory domain controller access for NetApp ONTAP cluster administration. In this
scenario, which two actions would accomplish this task? (Choose two.) 

A. Configure an authentication tunnel through an admin SVM. 

B. Use the vservar active-directory create command to create a computer account on the domain for a non-CIFS SVM. 

C. Use the vserver active-directory create command to create a computer account on the domain for a CIFS SVM. 

D. Configure an authentication tunnel through an existing CIFS SVM. 

Correct Answer: BD 

https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.pow-adm-auth- rbac%2FGUID-
BC7B1934-DDE6-4AFB-A319-6C85D1ADACB6.html 

Configuring an authentication tunnel 

If you have already configured a CIFS server for a data SVM, you can use the security login domain-tunnel create
command to configure the SVM as a gateway, or tunnel, for AD access to the cluster. 

Creating an SVM computer account on the domain 

If you have not configured a CIFS server for a data SVM, you can use the vserver active- directory create command to
create a computer account for the SVM on the domain. 

 

QUESTION 3

Exhibit. 
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You have an SVM-DR relationship as shown in the exhibit. You are given a new requirement to use SnapMirror
Synchronous (SMS) for the data volumes In NFS-SVM-01. In this scenario, which solution Is supported to enable SMS
in ONTAP 9.8 software? 

A. Set up new SM-S relationships from the AFF A220 to a new destination. 

B. Set up new SM-S relationships from the FAS2720 to a new destination. 

C. Set up NetApp Cloud Sync with a cloud broker in AWS to replicate to a new destination. 

D. Modify the existing SVM-DR policy to use sync mode. 

Correct Answer: C 

 

QUESTION 4

Exhibit. 
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After an ONTAP upgrade, you notice that several cluster LIFs are not on their home ports as shown in the exhibit.
Which LIF option would change this outcome? 

A. the subnet-name option 

B. the failover-policy option 

C. the auto-revert option 

D. the data-protocol option 

Correct Answer: C 

Explanation: https://docs.netapp.com/us-en/ontap/networking/revert_a_lif_to_its_home_port.html 

 

QUESTION 5

After deploying an ONTAP 9.8 cluster, you want to disable the unused Ethernet ports. In this scenario, which two
methods would accomplish this task? (Choose two.) 

A. Use ONTAP System Manager. 

B. Use the command line interface. 

C. Use Active IQ Config Advisor. 

D. Use Active IQ Unified Manager. 

Correct Answer: AB 
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